












































































































Consider the general quadratic equation

ax t be t c o where a b c
are constants

a x t x tea to

complete
the square

x
a

t Ea g 0

x af I E
x E bgatac

the 452,4 c

x by Itb Aac
Za

x
a
I 15 Gac

za

x b Ifb das
Za

The Quadratic Formula





















Solve se 52 6 TO

9 1 b 5 c 6

x b Ifb Gac
Za

x
51 57241166
2 i

x 51 25 24

Z

x 51549
Z

x 5 7

2
or 5 7

Z

x 6 or x 1

The above equation could have been solved

by factorising We tend to use the formula

when the question asks for answers to 3 sigfig
or 2 dec places

Ex2 25 7 8 0

9 2 5 7 c y

to 3 Sig fig

Applying the Formula



x bl 5 Gac
Za

x 711746 8

262

x 71149 64

4

x IT
4

x 74513 or T T
4

x 0.908 X 4.41

Ex Solve 5 5 11 3

a 5 8 11 3

x b Jb Gac

29

x 111 112 46513

2 s

x 1111121 60
10



x I IT
10

x 11 561
10

or 11 I
10

x 0.319 or 2 1.88

Now complete exercise that accompanies

the 16 minute video lesson on this topic


